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Features to be tested

1. Coffee machine2 | F&0| 7}-55ILC}.
2. Coffee machinel| HI| F&2 70| 2t E7t5 & + AL
3. Coffee machine2 #I|Q| &

4. Coffee machine2 7{I|°| 2
5. Coffee machinel| E3} #i|= AEX}0f 2fsl & ElL}.
6. Coffee machine2 machine?| LIEE & H& & 4 L}
7. Coffee machine2 0] 20| 7}535}Ct.

8. Coffee machine2 Of|ef F &7} 7} 53lLCt.

9. Coffee machine2 #Hi| & = HO[A= WH7|E Hae = ALk
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System test design specification

< Table1 Testing 2|=E =

1D Description

T3_CMS_STP_000« | Coffee machine2 #I| 0| 7+&05tCt.

T3_CMS_STP_001 Coffee machine&| I ==& =40 mel 7= 2 = SUG

T3_CMS_STP_002¢ | Coffee machine2 #HIO|2| =& =EE =+ SUCH

T3_CMS_STP_003+¢ | Coffee machine2 #HIO2| 225 =EE o JUCH

T3_CMS_STP_004+¢ | Coffee machinel 2IF HIl= AEX0 Slsf =FEC

T3_CMS_STP_0053¢ | Coffee machine® machinel2] LHEE & E4 & = GICH

T3_CMS_STP_006 Coffee machine= W90 7HSTHCH

T3_CMS_STP_007+ | Coffee machine® G2 =7t 7150HCL

T3_CMS_STP_008+¢ | Coffee machine2 FHI =F ZH BOiRls HIO WHIIZE 3=
= o RICH

T3_CMS_STP_009¢ | Coffee machine2 AMEX7F #2 I FEE £ = AT




Test Identification

< Table2 Test Design Identification >+

1D+ Features Valid values

T3 CMS_STP 000w | Coffee machine® FHI F=E0| 2ts0 | HOE F=E=EZ EF A4

Cheo Hige
T3_CMS_STP_001+| Coffee machineZ| #HI| FE2 =40 | =80 ZE7ts2 &
mer E7hs 2 = SiChe Beep® THe
T3_CMS_STP_002¢| Coffee machine2 #HI2l 52 =B | FE A0l 28T £
2 & RUhke ¥ £ HEYE k=
Ha
T3_CMS_STP_003¢| Coffee machine2 #Ig| 228 =F | AHule 227 “E-g
2 &+ AUChe F 2oz 2E A

T3_CMS_STP_004¢ | Coffee machine® 23t #HI|= AMSXAH | 9 22 & HF9
o 2|5 EHEEChe HE O MR E2H
g =0le
T3_CMS_STP_005¢| Coffee machine2 machine2] WEE | 2F A soomi2] 28 =
= B2 = 5 GlChe DE Hage
T3_CMS_STP_006+| Coffee machine Gf0| 7HsolChs Hot= Al =8 Ec
= B2 Jhse
T3_CMS_STP_007+¢| Coffee machine2 O F47F 7hsot | WY ZEHE #EF o
C}e e e
T3_CMS_STP_008¢| Coffee machine2 #HI FF =0 Y | 88 Al Hoile AHO
OFSl= A WHZ|E H2T £+ SUChe | WIHZ| HAe
T3_CMS_STP_00%¢| Coffee machine2 AMER7E E2 M | 28 Al cMs EE-

HHE & & Flbhe




Test Case Specification

D+ Input specification+ Output specifications
T3_CMS_STP_000_000 HIO FF Zhst Z00AM F£ |52 U582 =14 #EF
[=E- 10g 22531 Hmst =
EEE =0»
T3_CMS_STP_001_000d 838 =2 SE=2CH 31 29 | @19 BH Beeps o
Fo HE M =5 28 H EES =0
T3_CMS_STP_001_0014 E5 FE0| 10g DOTHE W FF | 212 ZH Beepm A
23 #H ELES =0
T3_CMS_STP_001_0024 BOIE= AHO ®HAHZ[7t US o | Zo2t BH Beepg F
F=E 2% # EEs =0
T3_CMS_STP_D01_003+ Waiting Ef7} OtE O =& 2Fr| =F 75
T3_CMS_STP_002_ 000+ EHTl= 82 BHE a8e == 4 EEO o=
ojofl =AIEE =T
T3_CMS_STP_D02_001+ EA|E Tt olgle] 4F Y=He HE A ElEe
T3_CMS_STP_D03_0004 “lce” MEfE mj BHE QFH. "Hot"2 2 HEZEHE =il
T3 CMS_STP 003 001+ "Hot"™ MEfY mj Bi&E oF. lee'2 HEEE =Ce
T3_CMS_STP_0D04 0004 1000mIE Z=448HA = = &8 |84 2 99 58 2%
e, gt 2 ¥ES O ez
HEZEE =0»
T3_CMS_STP_0D4_001+ 100g2 ZIMCHA| E= H#5F =8 | ¥/ #5F %o 8 =
=R ot #E: ¥E Ozt 4
oz HEHE =0
T3_CMS_STP_004 0024 AL 7IE /{F27t X8 f &8 g | A4 7I& {F57F xdAM
Be O= BEEE =0
T3_CMS_STP_004 003« 1000mIE =D6HE S ST oFe | HE NT §USe
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Test Case Specificat

T3_CMS_STP_004_0044 10002 E=1ot=s H5 =8 9F HE AZ ElS
T3_CMS_STP_004 0054 HI “t& 57t 08 M S8 = | 8E A S
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FE HY aoF % #Ef= Reserved, W9
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o Hae 8Ee
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int choice = 0.
if (1kbhit()) {
overal IData = (overall_data *)mal loc(sizeof (overall_data));

syncOveral |[Dataloveral IData, currentData) ;

}

else {
choice = 0,
H'IE%IE—:! s scanf["‘l*,tl'.d", &?hc.mice]:
system("clear");
if (choice == 1){
OlE{L|O| A-> BOOLEAN CED = extract Interface() |
overal |Data = receiver(CED, 0, FALSE, NULL, FALSE, NULL, FALSE, FALSE, FALSE);

Receiver -> }

elsel

A=
}
}

Calculator-> calculateddata = calculator (overal IData, currentData);
StateController-> calculatedBeepData = stateController(calculatedbata, currentData);
BeepControIIer- S beepControl ler(calculatedBeepData)




Receiver

overal | _data* receiver (BOOLEAN CED, int CCD, BOOLEAN CTD, material data* CMD, BOCLEAN CLD, reservation data* CRD, BOOLEAN CAD, BOOLEAN COD, BOOLEAN CND) 1

averal | _data *overal |Data = (overal |l _data *Imalloc(sizeof (overal | _data));
initOveral IDataloveral IData) ;

if (|CED==FALSE){
overal |Data—=convertedExtractData = CED;
overal |[Data—»select = 1.

fflush(stdin) ;
return overal |[Data;

97§o| n}2t0|E{ & BOtA OverallData 444




Calculator

data_storage* calculator{overall _data *overal|Data, data_storage *currentData) |

data_storage *calculatedData = (data_storage *)malloc(sizeof (data_storage));
initDatalcalculatedData) ;

int over_select = overal |Data—>select,

BOOLEAN cur_wait = currentData—>wait;

if [over_select == -1 && (cur_wait)) {
calculatedData—>wait = currentData—>wait;

LI Al d=f

calculatedData—=mode = overal [Data—>select;
fflushistdin);
return calculatedData;

}

271°9] =N E 2rofetM Al 4tot £ calculatedData Bt




StateController

beep_data* stateController(data_storage *calculatedlata, data_storage *currentData) {
BOOLEAM cur_wait = currentData—>wait,
BOOLEAM cal_wait = calculatedData—>wait,
int cal_mode = calculatedData—>mode;
int cal_bmode = calculatedData—=b_mode;
beep_data *calculatedBeepData = (beep_data*)malloc(sizeof (beep_data));
initBeepDatalcalculatedBeeplata) ;

if ((cal_mode == -1 || cal_mode == 0) && (cur_wait)) {
currentData—>mode = calculatedData—>mode.
calculatedData—>wait = currentData—>walit,
wait(calculatedData, currentData);

LI A AH=F
fflush(stdin);
return calculatedBeepData;

}
ZHOI2 CIO|IE 2 &8 Z2M£




BeepController

vold beepControl ler(beep_data* calculatedBeepData) |
int beeplata = calculatedBeeplata—=b mode;

if (heepData == 1) {
insufficientWater(calculatedBeepData) ;

1

else if (beepData == 2] {
disposalExist(calculatedBeepData) ;

1

else if (beepData == 3) {
insufficientBean(calculatedBeepData) ;

}

StateController0| A L} 2 beepDataE 0| 8¢t BeepController
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